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25— 7 =18 1Ix 7 =77 180+-15=12 23— 9 =14 5 x 4 =20 18+ 3 = 6
1+26=97 8x13=104 286+~ 7 =4 8 +14=22 3 x6 =18 30+ 5 =6
86—41=44 12x 3 =36 63+~ 9 =7 30—12=18 7 x 2 =14 27+ 9 = 3
M1+17=28 4 x15=60 72+-12=6 19+ 5 =24 9x 1 =9 45+ 9 =5
71 —19=52 9x 9 =81 100-5=20 27—11=16 4 Xx 4 =16 32+ 4 = 8
18+ 4 =22 8 X11=88 112+-16=7 6 +18=24 6 X 3 =18 42+~ 7 =6
26 —15=11 183x 7 =91 144+-12=12 22— 8 =14 8 x 2 =16 27+ 3 =9
64 +17=81 26x 4 =100 2256+ 9 =25 12+ 9 =21 5 X 5 =25 56+ 8 =7
24 —14 =10 14x12=168 196 +14=14 28— 13=157%x 3 =21 72+ 9 = 8
S [s] 2 Bl - [4/V B3 v BUIR| [eToTolsT21]7 34
cT83%% |1]5]2|a(3|7]6|9]|8
255 R E mt;;g;;
i:%quE\LCLTEIéJ:Sl:{’EoT:Eiﬂ Eg%?%gg 43|76 /9]8]1]5]2
o o1 CRED I R B C 5%;%3@@ 5(4|19|7|1]|]6]|8|2]|3
ga*z;?%%;ﬁﬁbg@ RANEERS §§§?§M 218|113 (4|5]|19|6]|7
%%E\;?§§673289415
rwamsrerormsornn | 3 52288 |3|114alol7]2|5]8]6
8T 702 T— Fjp cBormaAREHoTRECE | 4 iifﬁ
MkEE <> Ebur. o7 ; ?ﬁgééé 716|811 (5(3|2[4]9
LABZADROLER E FTArA 9125|8643 |7|1
14KKPBRBOL SICHICBITRRR | 2 IV
HORT— ROERIEAN—ID L | 15250 LB HBOELIOVERLER | © ° 35§




